5. cviceni - vysledky

Piiklad 1.
(a) 5£(1,0)=1,92(1,0) = 0,%2(1,0) = 0, 52(1,0) = 1.
(b) 32(1,2) =0,32(1,2) = =3, 55(1,2) = -1, %5(1,2) = §.
(c) F(l+ee)= A7, 52(1+e,€) =0,58(1+e,¢) = 55, 52(1+e,e) = 1.
(d) %2(1,1) = -2, %(1,1) =4, %1,1) = 32, %’5(1, 1)=—2.

Piiklad 2.
(a) ¢'(1) = —1,¢"(1) =0 a tetna je . = 2 — y.
(b) ¢'(—1) = =2,¢"(—1) = 2 a tefna je z = —2y.

(C) @l(l) = %’(p//ﬂ) = % a tefna je x = % +1-— g

Priklad 3.

(a) ¢'(§)=-1¢"(%) = —%2 atetna jey =5 — .
— 27 _ . . x
(b) ¢ (7)) = %’ o' (m) = —24% a teCna je y = m + giui (x — ).

(c) ¢'(2) = —2,¢"(2) = % atetna jey = —1 — %(w —2).

(d) ¢'(1) = -1 ¢"(1) = —%2 atetnajey=1— %(x —-1).
Priklad 4.

(a) %2(0,0) = —1,%2(0,0) = 0.

(b) 921(0,0) = —1,22:(0,0) = 0.

() %24(0,0) = —4,921(0,0) = —2.
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